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. COMMERCE
(Honours Generic)
Answer the Questions from any one Option.
" Full Marks : 80

Time : Three hours

The figures in the }rtargin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.
Option-A »
MICROECONOMICS

(Honours Generic)
Paper : COM-HG-1016
Lt (A) Answer the following questions :
(any five) 1x5=5
wee WIS T o4l ¢ (fFeeieat A5019)
(i) Define monopolistic competition.
GIfPA efocibrer Tetee )@t 4|

(ii) Define cost function.

T T ez |
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i i (B) Choose the correct answer : (any five)'
(i) What do you me o ?\ A
W@‘aﬁw%WQ : eﬁ%@ﬂﬁ%ﬁ@ﬂ (ﬁm‘?ﬁﬁﬁf)

() In monopolistic competmon
products are sold.

(itv) Define social cost

WW}“{Q@ el | | ifieE dfeifieoneEs e
| wE Rt = |
(t) What is j |
hat is 1soqugant ? % (a) Homogenous
BT @4 B 5 | i
| | ~ (b) Differentiated

(V) What i Ly et |
1S Substitution effect ? . | BIASTIRY
O 5 2 i ‘ (c) Both
(d) None of the above
Q7[R9 hie =

: 7 (i) If good y is interior good the shape
of income consumption curve will

(i) What is collusive oligopoly ?

Gl s e capay i A

?

(vit) What do yoyu mean by incg |
me

effect ? | be -
| y 3 Fge w0 =, WK O el

ST 2O Jferce s Fe | iR =1

TGl 9 @@ Sy R
(ix) Give an (a) upward slopping
exampl] ' L

cost ol OPportunity JEi Tl

At (b) downward slopping
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(¢). backw : ;
ard slopping . (¢) price of one good as constant

(@) Lﬁiofm‘ g ol w7 P
€ above 1 |
ST GBI oy X | : (d) price of all goods as constant
(i) AR curve is known as ; il
1% I (AR) (Sroe ey ?IFI 1 (v) A firm wil_l be at equilibrium
(@) profit curve regarding use of a factor
ST A S sy 1‘ combinat‘ion, when. me.\rgmal rate
(b)  demandl oipes _ ; of technlcal.subs‘Fltutlon (MRTS)
€ or price curve | : between factors is to the
RERGNEE) BRI Wi ! - ratio of factor prices.
& aCieurve S o AT fofes @4 elfewiE
TS I (AC) a . SISl = @enl AT TR
(d) None of the aboye eifsmn 2 ST 20T A |
SO bS8 oy (a) less than
(iv) The S
me ion ek an e | T
4foTs e we | (b) more than
CPRTCO! 4R cartat =y 7 | A
(@) income as congtant 3 : |
2 o | (¢) equal
(b) utility as constant I
- R Tecifeg | (@) independent
' BR[kaicd

4 (Sem-1/CBCS) MICE/ISM/G 4

4 (Sem~-1/CBCSJ MICE/ISM/G S Contd.




vy Oligopolistic

ind 1 . | 2o
characterized by ustries are | (b) perfect competition
TEIRER T ey e il eferifel

gk oo K
(@ a few domlnant firms and | (c) monopoly market

substantig] barriers to entry . CLIGIIOR) qG1q

(PRI | :

o W oD s (d) None of the above
3 | : @o{< 68 «=F

(b) one do : |
minant firm ;
entry. barriers and less |

| (viii) Price discrimination will be
€= o ! rofitable onl when ' the

BleiEs monopolist finds that the price
(s U elasticity of demand for his
S With no barriers product is different in different

CPTA ety SR T ) markets. (True/Fdlse)
G5O AR GEE A S Fee

(d) None of the aboye | W’@ afent sifavis va Zfog7iesl
GW&W-W (odq T ofs e Teme [ien =1 |
(%) 9%%)

pt of TO el A
is applicable tog Up equilibrium (ix) A firm’s shut down- poirt is

reached when its AR fails to cover

( AVC. (True/ False)
a alih i
) monopolistic competition | 2o W 9% e Teiie =t
GifEr Aol | . B9 9IC e 9w AAfRaee T G
o : : _ : GENCIGHE
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2. Answer the following questions : (any five)

' 3 2x5=10
TS RIS ©&d &7t 2 (Rzeizay H5519)
(a) Define cross elasticity of demand. Whaf

1s the nature of cross elasticity for
complementary goods ?

(b) Mention the properti
ro i
| erties of isoquant

PGS I CRBPTR S

(c) What is inferior :
oods? @Gj
example. AR e

P8 & 5 2 <51 Tieel o

(d) Distinguish between mone
real cost.

T WIS &S e el ol |
(e) Mention the to o
“equilibrium_

Sl oy
SO T SR 5 5
(). What are the two

. aCtO ! .
eome elasticity: of demg ;Z ?affec.tmg

iy
ﬁs?sm@Tﬁﬁ?aq¢ETﬁ“§‘ﬁﬂEﬁW%ﬂwmqﬁﬁ

Y cost and

nditions of firm’s
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A,

(g9 Mention the two characteristics of
duopoly market. X

ERIEE R ICIRS ﬁﬁtﬁﬁﬁzémaﬂzﬁm|

(h) Mention the necessary conditions of
consumer equilibrium.

BoreeE SIRANTOR SR PO By
4 |

(i) Distinguish between fixed cost and
‘variable cost.

o A o= SRS I Al R
() Define economic region of production.
Vel St (FFas e &=

3. Answer any four questions of the following:

5x4=20

woTe iR Rieeiea o196I9 Bes ol 8

(a) Explain different types of price elasticity
of demand.

vd bl Rfezismor [fon dwenz i
Sl

(b) Distinguish between economies and
diseconomies of scale.

Teoiva StAfes el s Rl wias
Tere Al &2 | -
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(c)

St i ‘
Coztte(At‘ge relatlonship between average
o ) and marginal cost (MC).curve.
- W%mﬂwmmmwwﬁmww
(d)  Write short notes on ; |

b3 BI o7y ¢

(l) Mar = :
ginal Rate :
Substitution (MRTSO)f Technical

(i) Expansion path

Mmarket .

Tzl Wﬁ%

(g) Mentlon h ass rm t Iolls
the ump
mongo ; on
pollstlp Mmarket competlltl
< Mﬁsﬁ Y Oeff 1B P&
' RSy TS o SHIB|
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(h) Explain the concept of kinked demand

curve.

@I Siftwl @A DD T S0

Answer the following questions : (any four)

10x4=40

WWWWW%(@Z@WW)

(@)

(b)

(c)

Define Engel curve. Explain the
derivation of Engel curve from income
consumption curve for normal good.

_ 2+8=10
qrEE (@U9 TRE | Feife TE S
Toirell (@4R TS GIEE (SR (TS -
T B9 2 ? '
What is price consumption curve ?
Explain the shape of price consumption
curve (PCC) if good x is Giffen good.

: 2+8=10

i BoATol @i 7 7 - B W TSt
SRIMGEACISIICESHRN RSN

Show the welfare effect of cash subsidy
and kind subsidy with the help of
indifference curve analysis.

olF <1 2 S TRl AR GHEALTS &Sl
a0 ReAEes AT SCEThl 4 |
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d ; '
(d) Explain the revealed preference theory

(e)

(g)

and : :
make g Comparative analysis with

ordinal utility analysis by Hicks and
Allen, 6+4=10

%
TSN 2y it oot et !

F@Wxﬂm
TR TPl oo B
WWWWWE\:I

Defi i
H1€ price elasticity of demand:

DiSCu =2
. SS .
Yarous factors affecting Price

elasticity of demang

I Rfen B

=1
QW 2+8
Wmm;fwg\%mmmmw%mﬁ
“@Wmm
<4 |

2+8=1O-

L .
'WTWFV{:R; |

(h) What is price discrimination ? Explain

(1)

)

4 (Sem—1/ CBCS) MICE/ISM/G 13

the degrees of price discrimination
under monopoly market. _

7 Frenesd N [ 2 9ol ISR
Rreneee [ieq APz G SieRGH! |

What do you mean by producer’s:
equilibrium ? Explain producer’s
equilibrium with the help of isoquant
curve and isocost line. 4+6=10

Rro SeAM SRR SR JiEE € 9 2
T SR SRBICO! TA-GAT i Hal-
A (€K AT TR 41

Discuss different methods of measuring
priceelasticity of demand.

v« Gifont FEfegieieeld sidui €19 afeq ﬂ%iwﬂ‘i{q
DA <B4 |
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Optio NSE (37 5o FesEm =iz 2
INVEST] i (i) SHBR BTO (i) S5>8 BIS
NG IN sToc ; v
K MARKET _ (iti) S5dC 5T (iv) S HIS
(Honoyrg Generic) (=% [FPE0) R CeSd)
Paper ; COM_HG " (c) “The basic objective of investor is to
e SN | =l minimize the risk and maximize the
as S‘Yer en of : return on investment.” (Write whether
m_‘dlr Ccted - the following question® | the statement is True or False)
X ﬁm REISIES %‘m 1x10=10 | st RevICeRRl € T A1 S FRCHIER
@ Whicy, ROIT T Tl ¢ | 2o REGEERE 36 T 7
Stitapre ¢ Ollowing is the most . (42 SOl ol ¢ [T f73iT)
risk appetitm;] for'an investor with 107 (d) Investments in securities issued by
U/ =78 ¥ government have no risk. (Write whether
(i) oe Wi B  the statement is True or False)
e Deposit . qu.lty ; eiE B 9 dfcefs sge s KR
(Choo (iv) Derlvath‘?: _ ozl 7l A | :
i ﬁw‘{*ﬁq Se€ the correct altemaﬂve) | (92 Tfecor 751 G 131 f77%0)
ST Gy % T R e (e) Write the full form of CRISIL.
0 g T Sy s | CRISIL = %4 wicot it |
(iii ’ ) g | () Badla trading was banned by SEBI with
) Rl o SN (@6 the introduction of
(i) Tge | (i) futures trading
®) NSk, (¥ Fomgy oz 597 (i) stock trading
(i) 199, Orporated e e . (iii) cash tradn.]g
(i) 199 (ii) . (iv) goods trading
S . 1994 (Choose the correct alternative)
(ChOOSe () 1996 )
€ correct alternatt
4 (Sem-~ ~1/CBCS) MICE/ISM/G 15
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(g)

In Ingj
; a: muy
Starteq iy, il fung scheme was firs*
@ 19
64 ;
(i) 19g, @ 1987
e () N : &
(Cho one of the abo¥
o Ay 5 oS€ the correct qiternativ®

(i) Bh\\JS E:H{EQNT ‘ii% Q-i‘n.sﬁ G ti@?[
(@)  Sstq 5o
o (iv) Gog 518 T2
LS (&% fom a1z o)
Irldian St &

Tegulat f
0 or i 0
k Markef - Yy authority

) yyyy i
\9

(1)

er

& S Orders total numbe’
1 -

q 1 the trading systerﬂ

(Write whethe’

i3s3l T CFaS, JPIN smfow I
TP TN TR e B AR
(92 Tf& 751 351 ¢ (361 fe130)

() Valuation of risks means quantification

or measurement of risk in monetary
 (Write whether -

" the statement is True or False)

o DA e RFemmicla GRiu

ferelel IR IO | :
(93 G5! 51 ¢ 13001 fe731))

(k) Internet-based trading services to
investors started in India from

(i) 27th January, 2000
(i) 16th August, 2001
(iii) Sth April, 2002

(iv) 3rd November, 1994
(Choose the correct alternative)

2

() 33 S, 2000
(i) SY B, 005
(i) @ «fEE, 200%

(iu} © J(d%9, o8
(om sl AR Tleredr)

terms.
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(U1
W pure ragi, fiie N
{u} percentage i
?H} rate of iy,
(0] e
\ ) None of the apg
| ST o ) i
t NIy
fi 79 ity Fore
) :cmi‘%_ 9
"R
(iv) ¢
*I97 gg@ i
C

h
O are . (%7 Rem g o9

e p R
aArtic; ;
Ucipants in derivati’®

)
the Minimijse Joss or iS¥
X € st (Write whethe’
% Wq%atemem S TRy FalSe)

R Nay . ‘ E’W‘Tc’\m Jros<REel |‘
units I&dicates : :‘?3@7%(5]» A1 (o 1351 W)
Nav, athfeund. © cost valye of the
e Stqte’nent (Write wheth®’

i

s True or Fals?!

STy 51 |
Rty 57 o fo )
1 .

T B

(p) Which of the following is true about
primary market ?
(i) Primary market is the place where
public can buy and sell securities
from one another.

(i) Primary markets refer to the
mobilization of funds from the
public by corporates through the
issue of shares/debentures.

(i) Primary markets are place where
only short term instruments are
traded.

(iv) Primary markets are markets
where commodities are sold.

(Choose the correct alternative)

oA TG A O (IR e wa 2

(i) sifelfie IEE (22 9t 4fb FW T©
SR GG e 2 elfoefe @
o Rern TR A

(i) eelfais IS AR ARl SEPTIHISER 2
welofm /e RfEE TRace A ez
I8, IR |

(i) oafie aEE (AR 9 T IS (I

orpleTie 1@ /(e I I 2 |

mmwm«ﬂmwwwﬁ

) 1 2|
(% [[FPeCo] R BlETsdr)

(iv)
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(@) Thereis daily settle

contracts, ment of stock option

o ] (Write wheth
Statement s True or Falsfej

%W"WWMWW@I

(REs 757 o oy oy

(r) Commod;
ty derivat
for hedging. Crivatives are used Sy

0 (Write wh
Statement S True or ngee;

?@mﬁw_@[
(ﬂf%m;fwmﬁwﬁw

about S0 words fafatchhe _fOHOng questions in
T ey : &
%mw%@mwm Qomz;:i
(@) Menti
in E:r(l)g o afliVantagES of investment
H :3: R0 757 ey S
Rep?)trtl’% e Porate Annual
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(d) Explain the meaning of options in

- derivative market.

TED AR TGRS T S IR0

(e) Mention two features of investment.

"R 760 e ol

() What is meant by ‘stock market order’?

55 T R I & 3@ 2

(g) Give ‘the meaning of the term
‘derivative’.
o AT e |

(h) Write two functions of stock exchange.
R w76 SEE! 1|

(i) Define Mutual Fund.
Tron e et |

() Give the meaning of price band.

aifzp a9 o |

Answer any four of the following questions
in about 150 words each : 5x4=90

oiq [l Difeol eER A0SR Al $¢ob! Wi

g fowde Ued fordl 8 ; ;

(@) Give the meaning of bond and explain
its characteristics.

qes o qET Tl S R aRigm e
34 |
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(b)

SR . e
L G, fa) R S —

() Menti
tion
| the benefit OF (st
ating.

g Distingy;
derivativeg and

EtWGEH

%) What i
aVerage?

ife:

Signi .Ca]'
fl C of moving
; o

T 5 B ey
|
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follovs}ing questions

Answer any four of the
10x4=40

in about 600 words each :
eclccaal Sifa5! e A0 SR YooBl Wi
< foede Vel G '

he procedure of buying and

(a) Explain t
s in the stock market.

selling of securitie

e AGHS AODNS AR w94l

<4 |
(b) Explain the advantages and disadvantages
of mutual funds. 5+5=10

sl A TR O SRR e 4|

(c) Discuss the evolution of derivative
market in India.

ORISR ECRCHIIG RERCR SR A PRI

(d) What is an order? Explain different
types of orders used in stock market
for buying and selling of stocks with
examples: 2+8=10
TG & 2 Ol TS WM - RS
e fon 2R A0 SRR IRl |

(e) Mention various sources from which an
investor can collect financial
information about a company.

SRR GG A GO A R
oy eeE SR~ Fifen Sz TEe B,

4 (Sem-—1/ CBCS) MICE/ISM/G 2
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(/) What is meant by risk ? Explain Fhe
methods for valuation of risk with
example. 2+8=10

ﬁwwmﬁﬁ ? oot SemiE
AROTR O gt o

(99 Mention the common steps to be
followed for Investment in mutual fund
‘online’.

. SR SRS Sffire R A S
U MR AMCFATTR Bzt <o |
~ (h) Differentiate between f

uture andvoptioﬂ
contracts. Also state their comparative
advantages.

at goals do they
pursue ? - ;
SR IS R AR qe SR
(PH WS (SSTANS B oy AR S 2
() Elaborate the

ypes of mutyua] funds
based on Structure,

MU wwpify ffeq RS “ffePrz

T —
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